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Answer all the questions
1. n(A) =2 and n(B[]C) = 3, then n[(AxB) |JC)]
Az n a8 48,
2. Find the range of the function T2snx
a)(-»,-1) U(173, o) b)(-1,1/3) c)[-1,13] ‘ d) (- ,-1] U[1/3, =]
3. The number of roots of (x+3)* + (x+5)* = 16 is T ' |
a)4 . b) 2 c)3 d) 0
4. The maximum value of 4sin2x + 3cos?x + sin x/2+cosx/2 is ‘ '
a)a+ 2 b3+ 2 o9 . d)4
Number of sides of a polygon having 44 diagonal is
a)4 b) 4! c) 11 d) 22
6. 1+3+~5+7_f....'+17isequalto 7 .
a) 101 = b) 81 ' 71 d) 61
7. The remainder when 38'S is divisible by 13 - &
a) 12 b1 5 c) d)5
8. The slope of the line which makes an angle 45° with the line 3x -y = -5 are
a) 1, -1 " b)12,-2 - c) 1, 112 Cod)2, 112
9. If one of the lines given by Bx? - xy + 4cy2=0is 3x+4y =0, thencequalsto
a)-3 oW b)-1 - ¢ R ) R SEMERESUEIAE ¢« ) K R
A1 =
10. IfA=|_, _, | thenfor what values of », A2=0.
a)0 B T I E
3-x -6 3
11. A root of the equation -6 3-x .3 .0 : &
3 -6-Xx . 40
: ‘ N
a)6 ‘ b) 3 c)0 d) -6 3\'\ ,
> - A AN \. ’ A ’/\ A \\"‘
12. IfBA=3i+2j+k and the positions vectorof Bis j.3j-k: the position vectgﬁr\)f Ais

| G
a) 4li+2j+k _ b) 4iA+5'i' c) 4’i\ ' d) ’-4?
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A=Y l‘.\'l"

2z
’ L~ o _70then X is equa| to

-» \ - * ‘ A — ' \ N C - % N
fa=i-j-k b=2i-xj+k- c=i-j+4k and 3 (bx 4 10
a)s b) 7 c) 26

X X
limoa ” 2 =1
X -
d) a/b
a) logab b) log a/b c) log (b/a)
X -1 X =-1 lue of f(-1) so that th
The function f(x) = ' x> -1 is not defined for x = -1. The V@ ue o
P . X% "

function extended by this value is continuous IS 0
a) 2/3 b) -2/3 c) 1 d)
Ify=mx+candf(0)=f(0)=1 thenf(2)1s
a) 1 0)2 )3 d) -3
The derivative of f(x) = x |[x| at x = -3 15
a)b b) -6 c) doesnot exist d)0

—_—
J‘ ytanx =

sin2x

I 1 1 —

a) Jtanx - ¢ b) 2\tanx - ¢ c) —z—wtanxsrc d) 2 tanx +C
j‘ dx

e T

a)logle*|-logle*-1]+c b) log |e*| + log |e* - 1| + ¢
c)log |e*-1| -log |e* +C . d) log [e*+1] - log |&*| + ¢
If a events A B are independent such that P(A) = 0.35, P(AUB) = 0.6 then P(B) is

a) 5/13 by 1188 c) 4/13 d) 713
Part-B |
Answer any 7 questions. Question No. 30 is compulsory. 7x2=14

1
Find the domain of f(x) = 1-2c0s x

Solve 2|x+1| - 6 < 7 and graph the solution set in a number line.

IfnC,,=nC, find21C,
Find the coefficient of x® in (3+2x)'°

(7 3]
Determine a ifA= | 2 al IS @ singular matrix.
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\ A‘-‘-\;\ < . - .
=or un : 8 kB ) > is /3 then prove that
For unit vecm{ a.b.c. ab=ac=0 and angle between p and  is /3 P

= 2 \\\-\\ -3
a=t-aNbxc)
\\"3

%3

X \)X‘-

Evaluate l V(15 - 2x) gx

The odds that the event A occurs is 5 to 7. find P(A).
Find the length of an arc of the circle of radius 5cm subtending a central angle measuring 15°
Part-C
7x3=21

Answer any seven questions. Question No.40 is compulsory
If R — R is defined by f(x) = 3x - 5, prove that f is a bijection and find its inverse

Find a quadratic polynomial f(x) such that f(0) = 1, f(-2) = 0 and f(1) =

If A+ B = 45° then prove that (1+tanA) (1+tanB) =
Ifa, b, cin GP and a?* = b'Y = ¢ then prove that x, y. z are in A.P.

Find the distance from a point (2. 4) to a straight line 4x + 3y + 4=0

’/ 3 3 —-,1\}
Express {L— =2. 1 i as a sum of symmetric and skew-segmetric matrices.
-4 -5 2/

Ify=1/xfind y”.

If £(x) = 3x2 - 4x + 5, f(1) = 3 find f(x). _
If 2 coins are tossed simultaneously, then find the probability of getting.
i) one head and one tail i) atmost 2 tails ‘

If (n+2) C. : (n - 1) P, =13:24 find n. '

Part-D
Answer all the questions: . 7x5=35
a)lff g R - Rare defined by f(x) = |x] + X and g(x) = |x| - x find fog and gof.(OR)

b) Write the steps to obtain the graph of the function y = 3(x-1) + 5 from the graph y=x2

rach ¢ x2 + X +1 " (OR)
' ial fraction of —w——— #
a) Find the partial fra 2 _5x-6 "
| Q&
6 25 {\T\\
b) Prove that log2 + 16log 75 +12l0g > +7log g5 =1 o

a) If secH + tand = P, find S‘ect}. tant, sing. (OR)
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a) If the binomial coefficients of 3 consecutive terms in the expansion of (a+x)" are in the ratio
1:7:42, then find n. (OR) :

b) Find the equation of the line through'the intersection of the lines 3x + 2y +5=0and o
3x - 4y +6 =0 and the point (1, 1)

b) Prove 12+ 22432+ +n2 by mathematical induction method.

1 x2 x3

1 y2 3 .
a) Prove that ’ Z'?_ =(X-Y)(y-2) (z-x) (xy + yz + 2x (OR)
b) Find the value of xx~ 15_2

a) Show that 4, 5. k. - j_k. 37+9j+ 4k, _47+4]+ak are coplanar. (OR)

b) If y = gtan 'x then prove that (1+x2)y” + (2x-1)y'=0

a)F—"ndjmdx - (OR) : .

b) In a factory machine | produces 40% of items and machine Il produces 60% of terms 4% of
items by machine | and 5% of items by machine Il are defective. Find the probability that the

defective items produced by machine Il

B —— .*-—--



